



aff

October 21, 2016

Project No:

10.001123.0000

Invoice No: 266716R

Jillian Peterson Fort Bend County 301 Jackson Street Richmond, TX 77469

Project

10.001123.0000

Precinct 3 Mobility PO# 135759

TOTAL CONTRACT AMOUNT: \$611,000.00 AMOUNT INVOICED TO DATE: \$110,709.80 REMAINING FUNDS AVAILABLE: \$500,290.20

Professional Services from September 24, 2016 to October 21, 2016

Professional Personnel

	Quantity	Rate	Amount
Document / DD Specialist George, Kathy	6.0	65.00	390.00
Ojumah, Lakisha	2.0	65.00	130.00
Document Supervisor Mintra Rickelman	4.0	80.00	320.00
Project Manager Kaplan, Arlene	18.0	85.00	1,530.00
Rhia Miller	0.25	85.00	21.25
Right of Way Agent (1-5 Years) Suzyette Romoser	26.0	65.00	1,690.00
Sr. Right of Way Agent Paul Quinn	44.0	75.00	3,300.00

Total Labor 7,381.25

Reimbursable Expenses

Mileage Copies Other Expenses

Total Reimbursables

139.86 32.55 3,000.00

3,172.41 3,172.41

Total this Invoice

\$10,553.66

Please remit payment to PERCHERON, LLC, 1904 West Grand Parkway North, Suite 200, Katy, TX 77449, Toll-Free 888-232-3149 EIN 55-0645875. Thank you. We appreciate your business.

PERCHERON INVOICE DETAIL

Billing Period from September 24, 2016 to October 21, 2016

Date	Qty	Rate	Total Labor	Miles	Amt (Miles x Rate)	Lodging	Meals	Per Diem	Phone	Comp	Filing Fees	Copies	Pstg	Other Exp	Total Exp	Total
Miller, Rhia					•											
10/21/2016	.250	85.00	21.25													21.2
Work Detail	Rhia Mille	r: Met wit	h agents to ge	et updates	on all parcel	s.										
Total Miller,	.250		21.25													21.2
Rhia: Rausch, Ana							_									
10/13/2016				65.00	35.10	_									35.10	35.1
Total Rausch, Ana:				65.00	35.10	7									35.10	35.1
Rickelman, Mir	ntra															
10/5/2016	2.000	80.00	160.00													160.0
Work Detail	10.5.2016	6 - Mintra I	Rickelman - F	ort Bend C	ounty - Fort	Bend Park	and Ride	drafted FC	DLS for 406	-003 and 40	6-004.					
10/10/2016	1.000	80.00	80.00													80.0
Work Detail	10.10.201	6 - Mintra	Rickelman -	Fort Bend	County - Ga	ston Road	- P4, P6 ar	nd P10 orga	anized and	sent to Cour	nty for CC a	igenda.				
10/17/2016	1.000	80.00	80.00													80.0
Work Detail	10.17.201	6 - Fort B	end County -	Gaston Ro	ad - P21 se	nt out acce	ptance and	vendor for	rms, easem	ent form cre	ated for Pa	ul				
Total Rickelman,	4.000		320.00													320.0
Mintra:																
George, Kathy																
10/19/2016	2.000	65.00	130.00													130.0
Work Detail	10/19/201	6 - Prepa	red the final o	offer letter fo	or parcel 12											
10/20/2016	2.000	65.00	130.00													130.0
Work Detail	10/20/201	6 - Attach	ned the suppo	rting docun	nents for pa	rcel 20 IOL	(4) then fo	rwarded to	Ariell for he	er review.						
10/21/2016	2.000	65.00	130.00													130.0
Work Detail	10/21/201	6 - Printe	d and prepare	ed for CM n	nailing for pa	arcel 20 (4)	- 2 certfied	mail and 2	2 regular ma	ail.						
Total George, Kathy:	6.000		390.00													390.0
Kaplan, Arlene	1						- Succession and									
9/29/2016	2 000	85.00	170.00													170.0
Work Detail			rked on count	eroffers wit	h property c	wners and	agents.									170.0
9/30/2016	4.000															340.0
Work Detail			rked on counte	eroffers for	FBC - P13	and began	P03									
10/4/2016	2.000															170.0
Work Detail	Arlene Ka	ıplan: Tea	ım meeting; di	isccussion	with and ab	out proppe	rty owners;	trying to br	ing down c	ounter offers	on Gastor	projects				
10/5/2016		85.00														170.0
Work Detail	Arlene Ka	ıplan: I wo	orked on count	teroffer with	h property o	wner and a	gent; havir	g title rech	eck owners	hip before c	hallenging	1 parcel con	icept.			
10/7/2016	3.000	85.00	255.00					<u> </u>								255.0
Work Detail	Arlene Ka	ıplan: Wor	rking with age	nts to get o	counteroffers	s at reason	able amour	nts; talked t	o property	owners; upd	ating repor	s; respondir	ng to legal a	ind appraisal	questions	
10/13/2016	2.000	85.00	170.00	34.00	18.36										18.36	188.3
Work Detail	Arlene Ka	ıplan: Suz	y Romoser an	nd Paul Qui							se 2). Dusc	ussed status	and terms	of settling wi	th property ow	ners.
10/17/2016	2.000	85.00	170.00													170.0
Work Detail	Arlene Ka	ıplan: Wor	rked with ager	nts and pro	perty owner	s to secure	two more	agreement	s to settle w	ith County.						
10/19/2016	1.000	85.00	85.00													85.0
Work Detail	Arlene Ka	ıplan: Wor	rked with ager	nt and prop	erty owner	to bring dov	wn amount	of counter.								
Total Kaplan,	18.000		1,530.00	34.00	18.36										18.36	1,548.3
Arlene: Romoser, Suz	vette				-											
9/27/2016	4.000	65.00	260.00													
								le Desert			04	Carrati Da				260.0
Work Detail		65.00		eting to pro			us on parce		ed an agree				epanng agr	eement for p	roperty owner	130.0
9/29/2016		noser - pre	epared counte	er-offer for I	P13 and sub	omittal to F	B County fo	or review ar	nd consider	ation.						
9/29/2016 Work Detail	Suzy Ron															
		65.00	260.00													260.0
Work Detail	4.000		260.00 eekly staff mee	eting to pro	vide update	s on projec	t and parce	els.								260.0

Project	10.00	01123.0000	, 1	Jan - 1948 W. CO.	ecinct 3	140000000000000000000000000000000000000				016	ıı	rvoice		66716R	
Date	Qty F	Rate Total Labor	Miles	Amt (Miles x	Lodging	Meals	Per Diem	Phone	Comp	Filing Fees	Copies	Pstg	Other Exp	Total Exp	Total
Romoser, Suzy	/ette			Rate)											
10/13/2016	4.000	65.00 260.0	0												260.
Work Detail		er - Monthly meet		ounty to disc	uss project a	and status o	f parcels a	nd counter	offers, Afte	r meeting o	alled proper	ty owners to	provide upo	dates to count	er-offers
	and response	es from the Count	y; and adm				· 								
10/18/2016		65.00 260.0		4.4			"								260.
Work Detail		er - weekly FBC n		pdate parce	e and status	on counter	-oπers. 								400
10/19/2016		65.00 130.0				f D00	D14								130.
Work Detail 10/20/2016		er - Prepared FB0 65.00 130.0				TOT PUS and									130.
Work Detail		er - Prepared FOL		anuested an	undate on P	13 to FBC (counter-offe	ar hack							130.
Total	26.000	1,690.0	ALTHOUGH DAMAGE	squesteu arr	upuate on i	10 10 1 00 1	Journal - One	or back.							1,690.
Romoser,	20.000	1,000.0													1,000.
Suzyette: Quinn, Paul															
9/26/2016	4.000	75.00 300.0	0 40.0	0 21.60	-									21.60	321.6
Work Detail		BC - Gaston Roa		22 (2.0)		delivered ve	ndor docur	ments for hi	m to sian					21.00	321.0
10/3/2016		75.00 300.0		·											300.
Work Detail		BC - Gston Road		ke by phone	with Randy	Graham an	d discusse	d the projec	t, set meeti	ina for thurs	sdav to walk	the propose	ed ROW.		
10/4/2016		75.00 300.0						''-						21.60	321.0
Work Detail	10/4/2016 - F	BC - Gston Road	- P6 met v	vith Arthur W	Vilson and de	livered offe	r acceptan	ce documer	nts and set	meeting for	thursday to	pick up. P	10 - Met with	Mr. Le and re	eceived
10/5/2010		focuments and de 75.00 300.0		ne Percheror	n Offices.										300.
10/5/2016 Work Detail		BC - Gston Road		07 D8 D9	Multiple med	atings with I	andowner (on the proje	ct Prepari	na docume	nts naadad t	o det narce	le closed		300.
10/6/2016		75.00 600.0												32.40	632.
Work Detail		BC - Gston Road		EC. 200		Graham at	their parcel	and walked	d the propo	sed ROW	I gave the la	andowener	information o		
	needed to pro	epare a counter o	fer. Delive												
10/13/2016		75.00 600.0				lassas Dd	D === 1 D1 E	fallannin	ما المانية						600.0
Work Detail 10/19/2016		FBC - Gaston Ro 75.00 300.0		meeting at r				- 10110W up v							300.0
Work Detail	10/19/2016 -	FBC - Park and F	Ride - P406	-003 - Worki	ng with Cube	esmart attor	ney on eas	ement docu	ument and	counter offe	er.				
10/20/2016	4.000	75.00 300.0	0 20.0	0 10.80)									10.80	310.
Work Detail		FBC - Gaston Ro		P15 and P1	16 Working	with landow	ner to secu	ire a counte	er offer. His	concerns	are with tree	s and what	will be remov	ved and what	
10/21/2016		75.00 300.0													300.
Work Detail	10/21/2016 - offer from P2	FBC - Gaston Ro landowner.	ad Project	-P2, P7, P8 -	- Discussion:	with each	landowner	s regarding	counter off	ers and pro	cess for clos	sing. Recei	ved informati	ion regarding	counter
Total Quinn,	44.000	3,300.0	0 160.0	0 86.40)									86.40	3,386.
Paul: Ojumah, Lakis	ha														
10/20/2016	2.000	65.00 130.0													130.0
Work Detail		ort Bend- Westpar		oad - Editing	the IOL for	P20									
Total Ojumah,	2.000	130.0				51.00.2524									130.0
Lakisha:	· · · · · ·														APENZAN
Color Copy Co															
10/7/2016	SAN WALLES ASSESSMENT							31W-310CCC		2.4 (5.4.0 April 1996 / 195. 1994 (197	23.25			23.25	23.2
Total Color Copy Counts:											23.25			23.25	23.:
Field Service C	COLOR CC														
10/21/2016											9.30			9.30	9.
Total Field Service											9.30	5		9.30	9.
COLOR CC: Integra Realty	Resources														
														2,000,00	
9/30/2016	Appreciaal To	DOT Bornel 40											3,000.00	3,000.00	3,000.
AP Detail Total Integra	Appraisai IX	DOT Parcel 19											3,000.00	3,000.00	3,000.
													3,000.00	3,000.00	3,000.
Realty Resources:															



Integra Realty Resources Houston

5 Riverway, Suite 200 Houston, TX 77056 Federal Tax ID #36-4506539

I (713) 243-3300 F (713) 827-8552 www.irr.com

Invoice

Invoice Number: 155.16.1083

Invoice Date:

9/14/2016

Page:

Bill Ta:

Percheron Acquisitions, LLC 1904 West Grand Parkway North, Suite 200

Katy, TX 77449 Attn: Ana Rausch

Appraiser Contact: Michael Welch

Project No. 155-2016-1083

Project Name: Gaston Rd - Parcel 19

Appraisal Services

\$3,000.00

Descript	tion of Charge <u>Qo</u>	primil:
Client	TX- DOT	;
Project_	10,001123,00	mobility,
Phase	Task_	
Amount	to Pay 3,000.00	APPROVAL:
	to Bill 3,000,00	

not approved
get
9/30/16

TOTAL DUE THIS INVOICE:

\$3,000.00

Please make check payable to: Integra Realty Resources-Houston

Note Invoice number on check.

Terms: Net 30

HOUSTON

Percheron Katy Office
Copy Count 9/24/16-10/07/16
Code Job Type Colo
PRINT

Color Pages 155 \$

Total Color Grayscale Pages 23.25 0 \$

Total Black

p	
\Box	
Ġ	
ď,	
0	

0	ć
200	2
O	
_	
B	
_	
ר	

3	23	
2		
3		
5		

Total 23.25

Shared Account Parent Code 10.001123.0000

Ft Bend 2013 Mobility

		Per	Percheron Katy Office	Office 10/21/16			
		copy co	nii 10/0/10	1 - 10/21/1C			
Shared Account Parent Name	Shared Account Parent	Parent Job Type	Color Pages Total Color	Total Color	Grayscale Pages	Total Black	Total Sum
Precinct 3 Mobility	10.001123.0000	PRINT	62 \$	\$ 9.30			\$9.30